VSB

UPRAVA VYRAZU

Piiklad 1. RozloZte na souéin:

a) x* —yt d) 4x* —y? g) 16 — x4
b) 9x* — 25¢° e) 6xc+ 3yc — 4xd —2yd h) (x+y)*—1
o) x> —2x+1 f) 4 +4x+1 i) x®—27
Ptiklad 2. Upravte:

2) 20+1 3a+2 d) 20—1 22 1

b 2b 2a 2a—1 2a—44?
b) 4b_b1 e) X _y(x_y)z
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Ptiklad 3. Upravte:
) (1J3ra_1> ' (2:_1)
b) aa—zb . (%_%)
9 (avimai) )

Ptiklad 4. Upravte:

a’b—2g
a) a—4p2
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d) <1_x+1>.(1_x—1>
X 3x —1 1
€) (x—l_x2—1>.(1+;)

f a—ab>+b° b\ (a*—2ab+20* b
(a —b)3 a—>b a2 —ab+b* a
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VYSLEDKY

1.
a) (¥ —y*) (x> +y?) d) (2x—y)(2x+y) g) (4—x%)(4+ %)
b) (3x —5y)(3x + 5y) e) (2x+y)(3c—24d) h) (x+y—1)(x+y+1)
o) (x—1)2 f) (2x+1)? i) (x—3)(x*>+3x+9)
2.
2) o d) ‘71
b) aib
2b 1
S ) x+y
3.
1 x—23
a) a d) T
b) —= _
) b e) xxl
Q) - f) 1
4.
a) Z_i C) 1\;Eﬂ
Vab
Va+ Vb d) 1
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